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Seventh Semester B.E. Degree Ex amitfaflon, D ec.2023 / J an.2024
Gomputer Networks 

.

Time:3 hrs. Max. Marks: 100

Note: Answer any FIVE full qaestions, ehnosing ONE full questionfrom each module.

Module-3
5 a. Cornpare and eorrtrast connectionlessi:packet-switched network with a virtual-circuit packet

c.

6a.
b.

switched network using necessary diagrarns. (08 Marks)
An organization is granted a block of addresses with beginning address 14.24.74.0124.'lhe
organization needs to have 3 subblocks of addresses to use in its three subnets, one sub-
block of 10 addresses, one subblock of60 addresses and one subblock of 120 addresses.

Design the subblocks. (06 Marks)

Explain MPLS packet, briefly. (06 Marks)

'oR
Illustrate IPv4 dtiagram format. (l0 Marts)
Explain path:vector routing by using spanning tree. Also apply path-vector algorithm for
updating path-vectors. (10 Marks)
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, Module-1
Explainthefunctionsofeach.lay,eri,,ffip'otocolsuite'(10Marks)
Explain the components qd.a dbta communication. .,,,,,,,,,,r.,,, (05 Marks)
Illustrate the concept @I?iplexing and demultip$xifig at the upper three layers of TCP/P
protocol suite. (05 Marks)

ORI

Explain fow physical topologies of a network.2a.
b.

4a.

lVlodule-2
a. Describe the operation of stop ahd wait protocol with FSM and flow diagram. (12 Marks)
b. Define ARP and its position in TCPAP protocol suite and also explain ARP operatiorr w,ith

With a nea!,dialram illustrate the conC..gpts of encapsulation arrd decapsulatio, ,o 
lffi;ur,

relevant diagram. (08 Marks)

OR'
Explain how collisions are avoided Slough the use of CSMA/CA's three strategies with
flow diagram. (10 Marks)

Explain briefly l0 Base 5 and 10 Ba36,T implementation. (06 Marks)
A slotted ALOHA network transmits 200 bit frames using a shared channel with a 200 }:bps

bandwidth. Find the throughput if the system (all the stations together) produces.
(i) 1000 frames per second
(ii) 500 frames per second
(iii) 250 frames per second

(10 Marks)

(041\,tarks)

b.
c.
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Modulq4 &k**-r7 a. Explain FSMs fbr Go-Back-N protocol wittr a neat didmh. (08 Marks)
b.nxpaintheconceptofslidingwindowincircularffi.u.formatswithsuitablefigures.

I;il*.-' (07 Marks)
nder and Rgpei$fl'windows chosen as'qne half of 2^ forc. Explain why the size of.the Se

Seiective RepeatProtocol. .J*- ,,. Tk (osMarks)

%,3- ,-,''
'r" OR." UK

a. Explain TCF segment format. tq Vql -,fu. (08lvarks)a, .Dxplarn I \fI' s(,gmellt luI[la[. Jn, .t **}. (uu rT arKs,

b. Illustrate connection establishffi ffi fCf using Three-wafffidshaking using suitable
example. ,*W " :" (oTMarks)v^ourl,rv. J"{e. !ekt, *n

c. Explain briefly Taho TCP *ft*WM. r d (05Marks)

&* ry&;
.:"&u Y Module'-S .;:#":ii. {&r

I a. Explain nor.l-persistent'&hffirection with suitbble exffiple. (08 Marks)
b. Exptain client-sengffiiradigm wilh an examiile. . (06 Marks)
c. Desbribe the threeMail Transfer Phases. + d.:

. {.+s ,*:*"r- 
(o6ll{arks)

- ,!.ir -' 
_W'

,,& '\ o**c
l0 a. Explain BN$rdsohtion and its type Recfirsive Resolution. (07 Marks)

b. Explain"briefly local versus remote@,$ng in Telnet with a neat diagram. (07 Marks)
c. Describb'the components of SSFI* * (06 Marks)

,litfi'1.
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